MZNEH (2016/12/29)

L (79) BtEER y = % 1 <0 < | RENGRRE

sol: y(z) = cosh(x), 3/ (x) = sinh(x).
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— /_11 cosh(x) dx = sinh(x)
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2. (69) K 2’In(l1+2) £ 2 =08 n RRPHBER,

sol: For z € (—1,1),
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The series converge uniformly on any closed interval inside (—1,1). Hence by using term-

by-term integration, for z € (—1,1),
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We have

So the n-th polynomial of 2% In(1 + z) is
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Tkt 1 =
3 2
3wﬁw%m%mﬁx:mw:Ly:ou&y:@+nw%~#%mamm&momaﬁymm
SR EISEREET,

3 2
sol:  (Shell method) The height at z is h = (x + 1)4/ % + % — 0. Integrate the volume of each
slight shell:
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By observing u = T + Ex du = (2* + z)dx, we have
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() = / 2my/u du = 27r§u3/2 Sl (—) .




